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1. (Problem 2) Assuming that C(NCHILD, ¢) = 0, and the model (E.1) satisfies all the further
assumptions of the classical linear regression model except the assumption of conditional
homoscedasticity:

(i) The parameter estimates of OUTPUT 1 are not consistent.
(ii) The standard errors of the parameters of OUTPUT 1 are not consistent.
(iii) The R? of the model has no sense.

~—

(a)  Only (ii) is true.

(b)| Only (ii) and (iii) are true.
(¢)  The three assertions are true.
(d) Only (i) and (ii) are true.

2. Problem 2) If from model (E.1) we want to test the null hypothesis that child’s years of
education is independent on mother’s education.
(a)  The null hypothesis would be Hy : 35 = 0.
(b)  The null hypothesis would be Hy : By = 5 = (.
(¢)  The null hypothesis would be Hy : 85 = G5 = 1.
(d)| The null hypothesis would be Hy : 35 = B = 0.

3. Problem 2) We are concerned with obtaining consistent estimators for all the coefficients of
equation (E.1).

(a)  The estimators of OUTPUT 1 are consistent.

(b)| The estimators of OUTPUT 3 are consistent, because the instruments (MB and SSEX)
fulfills the two required conditions to be a valid instrument: being uncorrelated with
e (as it is pointed by OUTPUT 5) and being correlated with the endogenous variable
NCHILD (as it can be seen in the first stage regression OUTPUT 2).

(¢)  The estimators of OUTPUT 3 are consistent, because the instruments (MB and SSEX)
fulfills the two required conditions to be a valid instrument: being uncorrelated with
e (as it is pointed by OUTPUT 4) and being correlated with the endogenous variable
NCHILD (as it can be seen in the first stage regression OUTPUT 2).

(d)  The estimators of OUTPUT 3 are not consistent, because we would need the instru-
ments (MB and SSEX) were not correlated with the endogenous variable NCHILD,
what does not appear to be the case given OUTPUT 2.
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. Problem 2) Assume that C(NCHILD, ¢) = 0, so that NCHILD is exogenous. A girl 10 years
old, who is the oldest with one aditional sibling in the family whose mother is 25 years old and
with 10 years of education, and living in a rural area, will have on average, approximately:

a) 1.1 years of education.

2.8 years of education.

(a)
(b)  We need more information.
()
(d)

3 years of education.

. Problem 2) Assume that C(NCHILD, ) = 0, so that NCHILD is exogenous. For a given
gender, age, mother’s age, mother’s education, urban status and birth order, an additional
child entails on average an estimated decrease on years of education of approximately:

(a)| 2.7% years of education.

(b)  0.027% years of education.
(¢) It depends on the age of the individual.
(d)  0.027 years of education.

. Problem 2) Assume that SSEX is not a valid instrument. In this situation:

(i) OUTPUT 3 does not give a consistent estimate of model (E.1).

(ii) If MB is a valid instrument we still can have a consistent estimator of model (E.1).
(iii) We can not test the validity of MB as instrument.

(a)| The three assertations are true.

(b)  Only (i) is true.
(¢)  Only (i) and (ii) is true.
()

d)  Only (ii) is true.

. Problem 2) Assume for this question that C(NCHILD,e) # 0, C(MB,e) # 0 and
C(SSEX, e) = 0. Then:

(i) The number of children coefficient in OUTPUT 1 is an inconsistent estimate of .

(ii) The number of children coefficient in OUTPUT 3 is an inconsistent estimate of [¢.

(iii) The inconsistency bias of the coefficient of the number of children is always larger (in
absolute value) in OUTPUT 1 that in OUTPUT 3.

(a)  The three assertions are true.
(b
(
(

)
c¢)  The three assertions are false.
)

Only (i) and (ii) are true.

d) Only (i) and (iii) are true.

. Problem 2) If we want to evaluate whether the variable NCHILD is an endogenous variable:
(a)  We will test whether NCHILD is endogenous in the first stage equation by means of a
test that the coefficient of MB and SSEX are jointly equal to zero.

(b)  We will test the joint significance of all the regressors in OUTPUT 2 (test of joint
significance, or regression test).

(¢)| We will test whether NCHILD is endogenous in the equation for LYEDU by means of
a Hausman test.

(d)  We will get the residuals from OUTPUT 1 and run an auxiliary regression of such
residuals on NCHILD and the rest of the explanatory variables in the model. A
significant coefficient for NCHILD will provide evidence that the residuals and NCHILD

are_correlated.
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9. Problem 2) Given the results:
(i) Given OUTPUT 4, we reject that NCHILD is exogenous at the 5% level (but not at the
1% level).
(i) The test for the null hypothesis of no correlation between the instruments and the model
error term, which is approximately distributed as a x?, has a value of 43972 x 4 x 107> ~ 1.76,
so that we do not reject the null hypothesis at the 10% significance level.
(iii) The test for the null hypothesis that both MB and SSEX are uncorrelated with NCHILD,
which is approximately distributed as a x3, has a value about 739, so that we reject such
hypothesis at any reasonable significance level.

(a) Only (i) and (ii) are true.
(b)
(¢)  Only (ii) and (iii) are true.
(d)

10. Problem 2) Using the appropriate estimates, we can conclude that for a given gender, age,
mother’s age, mother’s education, gender, birth order and urban status, an additional child:

Only (i) and (iii) are true.

The three assertions are true.

(a) Entails an estimated decrease in approximately 2.7% years of education.
(b)  Entails an estimated decrease in approximately 0.07% years of education.
(¢)| Does not decrease years of education.

(d) Entails an estimated decrease in approximately 2.7 years of education.

11. Problem 2) Using the appropriate estimates, we can conclude that for a given gender, age,
mother’s age, mother’s education, gender, number of siblings and urban status, the oldest
child in the family has approximately:

(a) 1.4 more years of education than the second sibling.
(b) 1% less years of education than the second sibling.
(¢)| 1.4% more years of education than the second sibling.
(d) 1 less years of education than the second sibling.

12. Problem 2) Using the appropriate estimates, a girl 17 years old, who is the second born with
5 additional siblings in the family whose mom is 43 years old and with 12 years of education,
and living in a rural area will have on average, approximately:

(a)| 9.8 years of education.

(b) 9 years of education.
(¢) 9.2 years of education.
(d)

2.3 years of education.

13. Problem 2) Using the appropriate estimates, the mother’s age threshold over which mother’s
age has a negative impact on children education is:

(a)
(b) 60 years old.
(c)
(d)

We need more information.

58 years old.

d) 56 years old.
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14. (Problem 3) Using the most appropriate available estimations, we can say:

(a)| If the accused is black, it is more likely that he is condemned.

(b)  The race of the accused has an influence only if the victim is black.
()

The race of the accused does not have an influence on the probability of being con-
demned.

(d)  If the accused is white, it is more likely that he is condemned.
15. Problem 3) According to the results, we can say that:

(a)| If the victim is white, it is more likely that the accused is condemned.

(b)  The race of the victim only has an influence if the accused is black.
(¢)  The race of the victim does not influence the probability of being condemned.
(d)  If the victim is black, it is more likely that the accused is condemned.

16. Problem 3) The predicted probability that an accused black person is condemned when the
victim is white is approximately equal to:

(a)| 0.23
(b) 0.96
(¢) 0.08
(d) 0.83

17. Problem 3) If the specified model in the OUTPUT 2 had been estimated by a linear prob-
ability model instead of using the logit model:
(i) The error term would present heteroscedasticity (conditional on the explanatory variables).
(ii) The error term would follow a normal distribution (conditional on the explanatory vari-
ables).
(iii) The predicted probabilities could be bigger than 1 or smaller than 0.

a The three statements are true.

)

b)  Only (i) and (ii) are true.
)
)

C

Only (i) and (iii) are true.

d

Only (ii) and (iii) are true.

18. Problem 3) Consider the following statements:
(i) The model of OUTPUT 1 presents a omitted variable problem.
(ii) An explanation for differences in the estimated coefficient of the race of the accused
between OUTPUT 1 and OUTPUT 2 is the negative correlation between the race of the
accused and the race of the victim.
(iii) We can conclude that the majority of the accused persons as well as the majority of the
condemned persons are black.

(a)  Only (i
(b)  Only (i
()
(d)

a is true.

)
)

and (iii) are true.

(
Only (ii) and (iii) are true.
Only (i) and (ii) are true.
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19. Problem 3) Consider the following statements:
(i) If the victim is white, the estimated effect of being an accused black person on the proba-
bility of conviction is approximately equal to 0.11.
(ii) The estimated effect of being an accused black person on the probability of conviction is
approximately equal to 0.22, independently of the race of the victim.
(iii) The race of the victim has a higher influence on the probability of conviction than the
race of the accused.

a)  The three statements are true.

b)

c)  Only (iii) is true.
)

Only (i) and (iii) are true.

d

—~ ~ ||

Only (i) and (ii) are true.

20. Problem 3) Consider the following statements related to OUTPUT 2:
(i) The model is linear in parameters.
(ii) The model is linear in variables.
(iii) The predicted probabilities could be bigger than 1 or smaller than 0.

(a)  Only (i) and (iii) are true.
(b)  Only (i) is true.

()

(d)

Only (ii) and (iii) are true.

The three statements are false.

21. Problem 3) In OUTPUT 2, the hypothesis that all the coefficients, except for the constant,
are zero:
(i) Is not rejected at the significance level of 1%.
(ii) Is not rejected at the significance level of 5%.
(iii) Is not rejected at the significance level of 10%.

(a)  Only (i) and (ii) are true.
(b)  Only (i) is true.

()

(d)

We do not have enough information to evaluate any of the three statements.

The three statements are false.

22. Problem 3) The predicted probability that an accused black person is condemned, evaluated
in the sample proportion of white victims, is approximately equal to:

(a)] 0.14.
(b)  0.07.
(c) 0.08.
(d) 0.93.
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23. Problem 3) If we want to test if the race of the victim is a relevant variable to explain the
probability that an accused person is condemned to death:
(i) Since the value of the corresponding t-statistic is approximately 3.98 | we reject at the 1%
level the null-hypothesis that the coefficient of that variable is zero.
(ii) Since the value of the corresponding likelihood-ratio test is approximately 20.36, we reject
at the 1% level the null-hypothesis that the coefficient of that variable is zero.
(iii) Comparing the restricted model with the unrestricted one, the number of correct predic-
tions is identical, which gives evidence that that variable is irrelevant.

(a)  Only (i) is true.

(b)| Only (i) and (ii) are true.
(¢)  Only (iii) is true.

(d)  Only (ii) is true.

24. Problem 3) If the OUTPUT 2 includes all relevant explanatory variables and the assumption
of the logistic distribution is correct, the model of OUTPUT 2 characterizes:
(i) The probability that an accused is condemned to death, conditional on the race of the
accused and on the race of the victim.
(ii) The conditional expectation of the event that an accused is condemned to death, condi-
tional on the race of the accused and on the race of the victim.
(iii) The linear projection of the event that an accused is condemned to death, conditional on
the race of the accused and on the race of the victim.

(a)  The three statements are true.
(b)  Only (i) is true.

(¢) Only (i) and (iii) are true.

(d)| Only (i) and (ii) are true.

25. Problem 3) Given the model of OUTPUT 2:
(i) We would have obtained similar effects of the explanatory variables (race of the accused,
race of the victim) if we had assumed a normal distribution instead of a logistic one and if we
had estimated by Maximum Likelihood (whenever there are not too many extreme values in
the sample).
(ii) We would have obtained consistent estimators of the effects of the explanatory variables
(race of the accused, race of the victim) if we had mantained the assumption of a logistic
distribution and if we had estimated by non-linear least squares.
(iii) If, mantaining the assumption of a logistic distribution, we had estimated by non-linear
least squares, the conventional standard errors would be inappropriate because of the existence
of conditional heteroscedasticity.

@ The three statements are true.
(b)  Only (ii) and (iii) are true.
(¢)  Only (i) and (ii) are true.
()

d

Only (i) is true.
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26. Problem 3) Given the model of OUTPUT 2:

(i) If we mantain the assumption of a logistic distribution, the estimations of the parameters
would be identical if we estimate by Maximum Likelihood as well as if we apply non-linear
least squares.

(ii) If we estimated by Maximum Likelihood assuming a normal distribution instead of a
logistic one (and assuming that there are not too many extreme values in the sample) the
magnitudes of the estimated coefficients would be bigger in the case of the normal distribution.
(iii) If, mantaining the assumption of a logistic distribution, we estimate by non-linear least
squares instead of by Maximum Likelihood, the standard errors of estimation by non-linear
least squares of the estimated coefficients will be smaller or equal to the corresponding stan-
dard errors when we estimate by Maximum Likelihood.

(a)  The three statements are true.
(b)  Only (i) and (iii) are true.
(¢) Only (i) and (ii) are true.
(d)| The three statements are false.

27. Problem 3) According to the estimations of OUTPUT 2, the average of the estimated effect
of being an accused black person on the probability of condemnation is approximately equal

to:
(a) 0.22.
(b)  We do not have enough information to calculate this average effect.
(c)| 0.09.
(d) 0.11.

28. (Problem 1) Given the results in OUTPUT 1, consider the following statements:
(i) the constant term can be interpreted as the average selling price for the houses that are
not close to garbage incinerator in the year 1981.
(ii) The results imply that the cause of lower selling price for house located close to the garbage
incinerator is the own garbage unit; the coefficient for the variable NEARINC is negative and
statistically significant.
(iii) The results allows us to measure the average selling price for house close to the garbage
incinerator in 1981.

(a)  Only (i) and (ii) are true.

(b)  The three statements are true.
(¢)| Only (i) and (iii) are true.

(d)  Only (ii) and (iii) are true.

29. Problem 1) Identify which of the following statements is true:

(a)  The average estimated selling price for houses in 1981 is approximately 70594 dollars.
(b)  None of the previous answers is true.

(¢c)  The average estimated selling price for houses that are closer to the garbage incinerator
is approximately 30714 dollars higher than houses located farther away.

(d)| The average estimated selling price for houses located farther away from the garbage
incinerator in 1981 is approximately 30714 dollars higher than the ones for houses that
are closer.
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30.

31.

32.

33.

34.

Problem 1) The results in OUTPUT 2 show that:

(a)| The garbage incinerator was constructed in a zone with houses whose selling price in

average is lower than those for houses located father away.
(b)  The garbage incinerator did not produce a significant drop in house selling price.

(¢) If the garbage incinerator would have not been constructed, the selling prices for the
houses would be 82517 dollars.

(d)  The garbage incinerator caused a drop in selling prices in a magnitude of 18824 dollars.

Problem 1) The estimated average difference between the selling price for houses located
farther away from the garbage incinerator and those located closer to the unit in 1981:

(i) is approximately 30714 dollars.

(i) is approximately 70594 dollars.

(iii) is a good measure of the impact associated to the construction of the garbage incinerator
on the average house selling price.

(a)  Only (iii) is true.
(b
(

C

Only (i) and (iii) are true.

~_ | ~— |

(
Only (i) is true.
(

(d)  Only (ii) and (iii) are true.

Problem 1) The estimated average difference in the selling price for houses located close to
the garbage incinerator between 1981 and 1978 is approximately:

(a) 70594 dollars.
(b) 11890 dollars.
(c)| 6901 dollars.

(d) 63693 dollars.

Problem 1) The estimated impact of the garbage incinerator on the average house selling
price for the houses located close to the garbage unit in relationship those located farther
away is approximately:

a) 18791 dollars.
b)| —11890 dollars.
c) 63693 dollars.
(d) 70594 dollars.

Problem 1) Under the evidence of OUTPUT 1 and 2:

(i) We are able to measure the causal impact associated to the construction of the garbage
incinerator on house selling price

(ii) We are not able to know rather or not the causal impact associated to the construction
of the garbage incinerator on house selling price is statistically different from zero.

(iii) We are able to know the estimated difference in selling price for houses located farther
away from the incinerator between the years 1981 and 1978.

P N

a) Only (i) and (iii) are true.

b)

¢) Only (i) and (ii) are true.
)

The three statements are true.

d

—~ o~ ||

Only (ii) and (iii) are true.
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35. Problem 1) Under the evidence of OUTPUT 3:
(i) The coefficient for the variable Y81 captures the change in the average selling price for all
houses between 1978 and 1981.
(i) The coefficient for the constant term captures the average selling price for houses located
in 1978 independently on the location of the house.
(iii) The coefficient for the variable NEARINC captures the impact on average selling price
associated to the construction of the garbage incinerator.

a)

b

P N

)
c)
()

Only (i) and (ii) are true.

The three statements are false.
Only (ii) and (iii) are true.
Only (i) and (iii) are true.

36. Problem 1) Given the results in OUTPUT 3:

The estimation suggests that the garbage incinerator reduces the average selling price
of the houses in 18824 dollars.

None of the previous statements is correct.

We cannot know if the reduction in the selling price of the houses due to the garbage
incinerator is statistically different from zero.
The estimation suggests that the average difference between houses located closer to

garbage incinerator and those located farther away is not statistically significant at the
10% level.

37. Problem 1) Given the results in OUTPUT 4:

(a)

Due to the construction of the garbage incinerator, there was an approximately 31%
devaluation in the house selling price.

None of the previous answers is correct.

In 1981 the house value was approximately 0.27% lower that the one in 1978.

Due to the construction of the garbage incinerator, there was an approximately 0.31%
devaluation in the house selling price.

38. Problem 1) Given the results in OUTPUT 4:
(i) We cannot reject the null hypothesis that the construction of the garbage incinerator does
not have an effect on the house selling price.
(ii) We cannot reject the null hypothesis that the garbage incinerator was constructed close
to houses whose value is not different from the one of houses located farther away from the
garbage incinerator.
(iii) We cannot reject the null hypothesis that the average selling price of houses in 1981 is
not different from the one in 1978.

a)

(b)
()
()

Only (i) and (iii) are true.
The three statements are true.
Only (ii) and (iii) are true.
Only (i) and (ii) are true.

Exam’s type: page 9 January 30, 2007



39. Problem 1) The model in OUTPUT 4:
(i) As well as with previous outputs, this one does not allow us to get an estimate of the
causal impact of the construction of the garbage incinerator on house selling price because
the included variables explain just an approximately 23% of the selling price variation.
(ii) the model does not allow us to get a precise estimation of the impact of the garbage
incinerator on the house selling price, since the coefficient of the variable YS81LDIST is not
statistically significant at 5%.
(iii) is a better model to get an estimate of the causal impact of the construction of the
garbage incinerator than the model in OUTPUT 3; OUTPUT3 has a considerable higher
determination coefficient.

(a)  The three statements are true.
(b)

(¢) Only (i) and (ii) are true.
(d)

Only (i) and (iii) are true.

The three statements are false.

40. Problem 1) Given the results in OUTPUT 1, analyze the following statements:
(i) The coefficient for the constant term is understood as the average selling price of houses
conditional of not being close to the incinerator in 1978.
(ii) The results imply that the cause of the lower house selling price for houses located close
to the garbage incinerator is the own construction of this unit; the coefficient for the variable
NEARINC is negative and significant.
(iii) The results allow us to measure the average price for houses located close to the garbage
incinerator in 1981.

(a)  The three statements are true.
(b)  The three statements are false.
(c¢)| Only (iii) is true.

(d)

Only (i) is true.

Exam’s type: page 10 January 30, 2007





